T2 FEERBENKERREN R GES

RARHTHEE
m A (BEAL )
X " & |
& ¢ 1, 5Zb
1 = -4 1,625
2 11 & 977
I ik & 977
3 I A 41
1 3 A 41
% A & G 2, 543
m (WAL - M)
7 H & 4
1 = B 7 70
1 = (i =4 70
2 % = 1,121
1 #® B T # 7 1,121
3 = % - 1, 302
1 = * - 1,302
4 F fii ® 50
1 T = % 50
5 sl = 7 "2, 943




RN TR RS

= p.3 (Bf7 : TH)
N 0]
Z E H AREEE | BIEE | &R " =
X 4 & %8
1 &% 1,525 1,753] A 228
1 &% 1,525 1,753] A 228
= A,
| &% 1,525| 1,753] A 228|! %%%g 805| (AfifEEL% 833)
=
2 gﬁgzg 720 (RiEESE  920)
2 & 977| 1,411 A 434
1 k4 977| 1,411 A 434
g 1 HT4EE
1 A4 977 1,411 A 434 ihapa 977
3 RELA 41 41 0
1 HEN 41 41 0
1 HEA 41 41 0|1 HEA 41| - 2E R4 51
=) t 2,543 3,205 A 662




% H (EfHr : FH)
N i
= I H AAEE | BIEE | HEgR " &
B &4
1 =EE 70 70 0
1 &E&% 70 70 0
1 & 70 70 0| 9 & 28 . o mim g
11 ERE 42
2 MBE 1,121 1,299 A 178
1 MEEERE 1,121 1,299] A 178
1 —REHE 1,121 1,299 A 178| 9 fRE 15
- 2EAHESE 720
11 ERE 10 [ NG eoo]
KEE 120
13 ZEIER KEORSE 145
i 3t - ITASEBHEAEE 200
19 BH &M 1 065 - F O 56
B4 ’
3 EEE 1,302 1,786| A 484
1 ExE 1,302 1,786 A 484
1 EXxE 1,302| 1,786| A 484| 8 H{EE 50
s HESE % 360
9 & 942| - =EHRS, HEES B
ESEHFERE 942
11 ER% 30
13 &£Re6 250
14 ARV 30
EEr
4 FliEE 50 50 0
1 FliEE 50 50 0
1 FliE®E 50 50 0
b 2t 2,543 3,205 A 662




